

## GENERALIZATION ON UNIQUENESS OF MEROMORPHIC FUNCTIONS OF A CERTAIN DIFFERENTIAL POLYNOMIALS

HARINA P. WAGHAMORE AND HUSNA V.

*Abstract.* In this paper by introducing the notion of multiplicity we study the uniqueness of meromorphic functions concerning differential polynomials and obtain some results. The results of the paper improve and generalize some results due to Jin-Dong Li [7].

### 1. Introduction

In this paper, a meromorphic function means meromorphic in the open complex plane. We shall adopt the standard notations in Nevanlinna's value distribution theory of meromorphic functions such as the characteristic function  $T(r, f)$ , the counting function of the poles  $N(r, f)$ , and the proximity function  $m(r, f)$  (see [10], [4]).

Let  $f$  and  $g$  be two nonconstant meromorphic functions and let  $a \in \mathbb{C} \cup \{\infty\}$ . We say that  $f$  and  $g$  share  $a$  CM if  $f - a$  and  $g - a$  have the same zeros, with the same multiplicities. Similarly, we say that  $f$  and  $g$  share  $a$  IM if  $f - a$  and  $g - a$  have the same zeros, ignoring multiplicities. When  $a = \infty$  the zeros of  $f - a$  means the poles of  $f$ . A meromorphic function  $a (\neq \infty)$  is called a small function with respect to  $f$  provided that  $T(r, a) = S(r, f)$ .

Let  $p$  be a positive integer. We use  $N_p(r, \frac{1}{f-a})$  to denote the counting function of the zeros of  $f - a$  whose multiplicities are not greater than  $p$ ,  $N_{(p)}(r, \frac{1}{f-a})$  to denote the counting function of the zeros of  $f - a$  whose multiplicities are not less than  $p$ . And  $\overline{N}_p(r, \frac{1}{f-a})$ ,  $\overline{N}_{(p)}(r, \frac{1}{f-a})$  are their reduced functions, respectively. We also use  $N_p(r, \frac{1}{f-a})$  to denote the counting function of the zeros of  $f - a$  where a zero with multiplicity  $m$  is counted  $m$  times if  $m \leq p$  and  $p$  times if  $m > p$ . Clearly,  $N_1(r, \frac{1}{f-a}) = \overline{N}(r, \frac{1}{f-a})$ .

Define

$$\delta_p(a, f) = 1 - \limsup_{r \rightarrow \infty} \frac{N_p(r, \frac{1}{f-a})}{T(r, f)}$$

Obviously,

$$1 \geq \Theta(a, f) \geq \delta_p(a, f) \geq \delta(a, f) \geq 0.$$

Hayman [3] and Clunie[1] proved the following result:

*Mathematics subject classification* (2010): Primary 30D35.

*Keywords and phrases:* Differential polynomial, Meromorphic function and Entire function.

**THEOREM A.** *Let  $f(z)$  be a transcendental entire function and let  $n \geq 1$  be a positive integer. Then  $f^n f' = 1$  has infinitely many solutions.*

In 1997, Yang and Hua [9] obtained a unicity theorem corresponding to the above result and proved the following result:

**THEOREM B.** *Let  $f(z)$  and  $g(z)$  be two transcendental entire functions and let  $n \geq 6$  be a positive integer. If  $f^n f'$  and  $g^n g'$  share 1 CM, then either  $f = tg$  for a constant  $t$  such that  $t^{n+1} = 1$  or  $f(z) = c_2 e^{-cz}$  and  $g(z) = c_1 e^{cz}$ , where  $c, c_1$  and  $c_2$  are three constants satisfying  $(c_1 c_2)^{n+1} c^2 = -1$ .*

**THEOREM C.** *Let  $f(z)$  and  $g(z)$  be two nonconstant meromorphic functions and let  $n \geq 11$  be a positive integer. If  $f^n f'$  and  $g^n g'$  share 1 CM, then either  $f = tg$  for a constant  $t$  such that  $t^{n+1} = 1$  or  $f(z) = c_2 e^{-cz}$  and  $g(z) = c_1 e^{cz}$ , where  $c, c_1$  and  $c_2$  are three constants satisfying  $(c_1 c_2)^{n+1} c^2 = -1$ .*

In 2011, R. S. Dyavnal [2] have improved these results and obtained the following results:

**THEOREM D.** *Let  $f(z)$  and  $g(z)$  be two nonconstant meromorphic functions whose zeros and poles have multiplicities not smaller than  $s$ , where  $s$  is a positive integer. Let  $n \geq 2$  be a positive integer satisfying the inequality  $(n+1)s \geq 12$ . If  $f^n f'$  and  $g^n g'$  share 1 CM, then either  $f = tg$  for a constant  $t$  such that  $t^{n+1} = 1$  or  $f(z) = c_2 e^{-cz}$  and  $g(z) = c_1 e^{cz}$ , where  $c, c_1$  and  $c_2$  are three constants satisfying the equality  $(c_1 c_2)^{n+1} c^2 = -1$ .*

**THEOREM E.** *Let  $f(z)$  and  $g(z)$  be two transcendental entire functions whose zeros have multiplicities not smaller than  $s$ , where  $s$  is a positive integer. Let  $n$  be a positive integer satisfying the inequality  $(n+1)s \geq 7$ . If  $f^n f'$  and  $g^n g'$  share 1 CM, then either  $f = tg$  for a constant  $t$  such that  $t^{n+1} = 1$  or  $f(z) = c_2 e^{-cz}$  and  $g(z) = c_1 e^{cz}$ , where  $c, c_1$  and  $c_2$  are three constants satisfying the equality  $(c_1 c_2)^{n+1} c^2 = -1$ .*

In 2008, Li [6] proved the following result:

**THEOREM F.** *Let  $f(z)$  and  $g(z)$  be two nonconstant meromorphic functions and let  $n \geq 23$  be a positive integer. If  $f^n f'$  and  $g^n g'$  share 1 IM, then either  $f = tg$  for a constant  $t$  such that  $t^{n+1} = 1$  or  $f(z) = c_2 e^{-cz}$  and  $g(z) = c_1 e^{cz}$ , where  $c, c_1$  and  $c_2$  are three constants satisfying the equality  $(c_1 c_2)^{n+1} c^2 = -1$ .*

In 2015, Jin Dong Li [7] proved the following two theorems.

**THEOREM G.** *Let  $f(z)$  and  $g(z)$  be two nonconstant meromorphic functions whose zeros and poles have multiplicities not smaller than  $s$ , where  $s$  is a positive integer. Let  $n \geq 2$  be a positive integer satisfying the inequality  $(n+1)s \geq 24$ . If  $f^n f'$  and  $g^n g'$  share 1 IM, then either  $f = tg$  for a constant  $t$  such that  $t^{n+1} = 1$  or  $f(z) = c_2 e^{-cz}$  and  $g(z) = c_1 e^{cz}$ , where  $c, c_1$  and  $c_2$  are three constants satisfying the equality  $(c_1 c_2)^{n+1} c^2 = -1$ .*

**THEOREM H.** *Let  $f(z)$  and  $g(z)$  be two transcendental entire functions whose zeros have multiplicities not smaller than  $s$ , where  $s$  is a positive integer. Let  $n$  be a positive integer satisfying the inequality  $(n + 1)s \geq 13$ . If  $f^n f'$  and  $g^n g'$  share 1 IM, then either  $f = tg$  for a constant  $t$  such that  $t^{n+1} = 1$  or  $f(z) = c_2 e^{-cz}$  and  $g(z) = c_1 e^{cz}$ , where  $c, c_1$  and  $c_2$  are three constants satisfying the equality  $(c_1 c_2)^{n+1} c^2 = -1$ .*

In this paper, we partially extend Theorem G and Theorem H to a certain differential polynomials and obtain the following results.

**THEOREM 1.** *Let  $f$  and  $g$  be two nonconstant meromorphic functions and let  $n, k$  and  $m$  be three positive integers with  $s(n + m) > 12k + 2m + 19$  and  $\max\{\chi_1, \chi_2\} < 0$ , where*

$$\chi_1 = \frac{2m}{n + m - 2k} + \frac{2}{(n + m)s + 2k} + \frac{2k + 1}{(n + m)s + k} + 1 - \Theta_k(1, f) + \Theta_{k-1}(1, f) \quad (1)$$

and

$$\chi_2 = \frac{2m}{n + m - 2k} + \frac{2}{(n + m)s + 2k} + \frac{2k + 1}{(n + m)s + k} + 1 - \Theta_k(1, g) + \Theta_{k-1}(1, g) \quad (2)$$

Let  $\{f^n P(f)\}^{(k)}$  and  $\{g^n P(g)\}^k$  share 1 IM, then

- (i) when  $P(\omega) = a_m \omega^m + a_{m-1} \omega^{m-1} + \dots + a_0$ , one of the following two cases holds.
  - (i1)  $f \equiv tg$ , for a constant  $t$  such that  $t^d = 1$ , where  $d = \{n + m, \dots, n + m - i, \dots, n\}$ ,  $a_{m-i} \neq 0$  for some  $i = 0, 1, \dots, m$ .
  - (i2)  $f$  and  $g$  satisfy the algebraic equation  $R(f, g) \equiv 0$ , where  $R(\omega_1, \omega_2) = \omega_1^n (a_m \omega_1^m + a_{m-1} \omega_1^{m-1} + \dots + a_0) - \omega_2^n (a_m \omega_2^m + a_{m-1} \omega_2^{m-1} + \dots + a_0)$ .
- (ii) when  $P(\omega) = c_0$ ,  $f(z) = tg(z)$  for a constant  $t$  such that  $t^n = 1$ .

**THEOREM 2.** *Let  $f$  and  $g$  be two nonconstant entire functions and let  $n, k$  and  $m$  be three positive integers with  $s(n + m) > 1$  and  $\max\{\chi_1, \chi_2\} < 0$ , where*

$$\chi_1 = \frac{m}{n + m - 2k} + \frac{1}{(n + m)s + 2k} - \Theta_k(1, f) \quad (3)$$

and

$$\chi_2 = \frac{m}{n + m - 2k} + \frac{1}{(n + m)s + 2k} - \Theta_k(1, g) \quad (4)$$

Let  $\{f^n P(f)\}^{(k)}$   $\{g^n P(g)\}^{(k)}$  share 1 IM, then

- (i) when  $P(\omega) = a_m \omega^m + a_{m-1} \omega^{m-1} + \dots + a_0$ , one of the following two cases holds.
  - (i1)  $f \equiv tg$ , for a constant  $t$  such that  $t^d = 1$ , where  $d = \{n + m, \dots, n + m - i, \dots, n\}$ ,  $a_{m-i} \neq 0$  for some  $i = 0, 1, \dots, m$ .
  - (i2)  $f$  and  $g$  satisfy the algebraic equation  $R(f, g) \equiv 0$ , where  $R(\omega_1, \omega_2) = \omega_1^n (a_m \omega_1^m + a_{m-1} \omega_1^{m-1} + \dots + a_0) - \omega_2^n (a_m \omega_2^m + a_{m-1} \omega_2^{m-1} + \dots + a_0)$ .
- (ii) when  $P(\omega) = c_0$ ,  $f(z) = tg(z)$  for a constant  $t$  such that  $t^n = 1$ .

## 2. Some Lemmas

To prove our result, we need following lemmas:

LEMMA 1. [7] *Let  $f(z)$  and  $g(z)$  be two meromorphic functions and let  $k$  be a positive integer. If  $f^{(k)}$  and  $g^{(k)}$  share the value 1 IM and*

$$\begin{aligned} \Delta &= (2k+3)\Theta(\infty, f) + (2k+4)\Theta(\infty, g) + (k+3)\Theta(0, f) + (2k+3)\Theta(0, g) \\ &\quad + \delta_{k+1}(0, f) + \delta_{k+1}(0, g) > 7k + 13 \end{aligned}$$

then either  $f^{(k)}g^{(k)} \equiv 1$  or  $f \equiv g$ .

LEMMA 2. [8] *Let  $h$  be a nonconstant meromorphic function that is not a polynomial with its degree  $\leq k-1$ . Then*

$$N_0(r, \frac{1}{h^{(k)}}) \leq N_k(r, \frac{1}{h}) + k\bar{N}(r, h) + S(r, h)$$

where  $k(\geq 1)$  is a positive integer, and  $N_0(r, \frac{1}{h^{(k)}})$  denotes the counting function of those zeros of  $h^{(k)}$  that are not the zeros of  $h$ .

## 3. Proof of Theorem 1

*Proof.* Let

$$F = f^n P(f) \quad \text{and} \quad G = g^n P(g) \tag{5}$$

Consider,

$$\bar{N}(r, \frac{1}{F}) = \bar{N}(r, \frac{1}{f^n P(f)}) \leq \frac{1}{s(n+m)} N(r, \frac{1}{F}) \leq \frac{1}{s(n+m)} [T(r, F) + o(1)],$$

then we have

$$\Theta(0, F) = 1 - \limsup_{r \rightarrow \infty} \frac{\bar{N}(r, \frac{1}{F})}{T(r, F)} \geq 1 - \frac{2}{s(n+m)} \tag{6}$$

and

$$\begin{aligned} \delta_{k+1}(0, F) &= 1 - \limsup_{r \rightarrow \infty} \frac{N_{k+1}(r, \frac{1}{F})}{T(r, F)} \\ &= 1 - \limsup_{r \rightarrow \infty} \frac{(k+m+1)\bar{N}(r, \frac{1}{F})}{T(r, F)} \\ &\geq 1 - \frac{k+m+1}{s(n+m)} \end{aligned} \tag{7}$$

$$\Theta(\infty, F) = 1 - \limsup_{r \rightarrow \infty} \frac{\bar{N}(r, F)}{T(r, F)} \geq 1 - \frac{1}{s(n+m)} \tag{8}$$

Similarly,

$$\Theta(0, G) \geq 1 - \frac{2}{s(n+m)} \tag{9}$$

$$\delta_{k+1}(0, G) \geq 1 - \frac{k+m+1}{s(n+m)} \tag{10}$$

$$\Theta(\infty, G) \geq 1 - \frac{1}{s(n+m)} \tag{11}$$

Next, we have from Lemma 1 ,(5)–(11) and the condition  $s(n+m) > 12k + 2m + 19$ , we get

$$\Delta > 7k + 13. \tag{12}$$

From (12), Lemma 1 and the condition that  $F^{(k)}$  and  $G^{(k)}$  share 0 IM we know that  $F$  and  $G$  are meromorphic functions such that  $F^{(k)}G^{(k)} = 1$  or  $F = G$ .

We discuss the following two cases.

*Case 1.* Suppose that  $F^{(k)}G^{(k)} = 1$ . Then it follows from (5) that

$$\{f^n P(f)\}^{(k)} \{g^n P(g)\}^{(k)} = 1 \tag{13}$$

Let  $z_0 \notin \{z : P(z) = 0\}$  be a zero of  $f$  of order  $p$ . Then it follows from (13) that  $z_0$  is a pole of  $g$ . Suppose that  $z_0$  is a pole of  $g$  of order  $q$ , then we have  $np - k = (n+m)q + k$ , i.e.,  $n(p - q) = mq + 2k$  which implies that  $p \geq q + 1$  and  $q \geq \frac{n-2k}{m}$ , so we have

$$p \geq \frac{n+m-2k}{m} \tag{14}$$

Let  $z_1 \notin \{z : P(z) = 0\}$  be a zero of  $P(f)$  of order  $p_1 \geq k + 1$ , then it follows from (13) that  $z_1$  is a pole of  $g$ . Suppose that  $z_1$  is a pole of  $g$  of order  $q_1$ .

Then from (13) we have  $p_1 - k = (n+m)q_1 + k$ .

From this we get

$$p_1 \geq (n+m)s + 2k. \tag{15}$$

Let  $z_2 \notin \{z : P(z) = 0\}$  be a zero of  $\{f^n P(f)\}^{(k)}$  of order  $p_2$  that is not a zero of  $fP(f)$ . Then from (13) we see that  $z_2$  is a pole of  $g$ . Suppose that  $z_2$  is a pole of  $g$  of order  $q_2$ , then  $p_2 = (n+m)q_2 + k$ . Thus

$$p_2 \geq (n+m)s + k. \tag{16}$$

Let  $z_3 \notin \{z : P(z) = 0\} \cup \{z : f(z)P(f) = 0\}$  be a zero of  $\{f^n P(f)\}^{(k)} = 1$  of multiplicity  $p_3$ . Then from (13) we deduce that  $z_3$  is a pole of  $g$  of multiplicity  $q_3$ , say. Hence  $p_3 = (n+m)q_3 + k \geq (n+m)s + k$ .

This together with (14)–(16) and Lemma 2 gives

$$\begin{aligned}
\bar{N}(r, f) &\leq \bar{N}\left(r, \frac{1}{g}\right) + \bar{N}_{k-1}\left(r, \frac{1}{g-1}\right) + \bar{N}\left(r, \frac{1}{g-1}\right) \\
&\quad + \frac{1}{(n+m)s+k} N_0\left(r, \frac{1}{\{g^n P(g)\}^{(k)}}\right) + o(\log r) \\
&\leq \frac{1}{p} N\left(r, \frac{1}{g}\right) + \bar{N}_{k-1}\left(r, \frac{1}{g-1}\right) + \frac{1}{p_1} N\left(r, \frac{1}{g-1}\right) \\
&\quad + \frac{1}{(n+m)s+k} N_0\left(r, \frac{1}{\{g^n P(g)\}^{(k)}}\right) + o(\log r) \\
&\leq \frac{1}{\frac{n+m-2k}{m}} N\left(r, \frac{1}{g}\right) + \bar{N}_{k-1}\left(r, \frac{1}{g-1}\right) + \frac{1}{(n+m)s+2k} N\left(r, \frac{1}{g-1}\right) \\
&\quad + \frac{1}{(n+m)s+k} \{k\bar{N}(r, g) + k\bar{N}\left(r, \frac{1}{g}\right) + N_k\left(r, \frac{1}{g-1}\right)\} + o(\log r) + S(r, g). \\
\bar{N}(r, f) &\leq \left\{ \frac{m}{n+m-2k} + \frac{1}{(n+m)s+2k} + \frac{2k+1}{(n+m)s+k} + 1 - \Theta_{k-1}(1, g) \right. \\
&\quad \left. + \varepsilon \right\} T(r, g) + S(r, g)
\end{aligned} \tag{17}$$

By (17), the above analysis and the second fundamental theorem we get

$$\begin{aligned}
T(r, f) &\leq \bar{N}(r, f) + \bar{N}\left(r, \frac{1}{f}\right) + \bar{N}\left(r, \frac{1}{f-1}\right) + S(r, f) \\
&\leq \left\{ \frac{m}{n+m-2k} + \frac{1}{(n+m)s+2k} + \frac{2k+1}{(n+m)s+k} \right. \\
&\quad \left. + 1 - \Theta_{k-1}(1, g) + \varepsilon \right\} T(r, g) + \frac{m}{n+m-2k} N\left(r, \frac{1}{f}\right) \\
&\quad + \bar{N}_k\left(r, \frac{1}{f-1}\right) + \frac{1}{(n+m)s+2k} N\left(r, \frac{1}{f-1}\right) + S(r, f) + S(r, g) \\
T(r, f) &\leq \left\{ \frac{m}{n+m-2k} + \frac{1}{(n+m)s+2k} + \frac{2k+1}{(n+m)s+k} \right. \\
&\quad \left. + 1 - \Theta_{k-1}(1, g) + \varepsilon \right\} T(r, g) + \left\{ \frac{m}{n+m-2k} + \frac{1}{(n+m)s+2k} \right. \\
&\quad \left. + 1 - \Theta_k(1, g) + \varepsilon \right\} T(r, g) + S(r, f) + S(r, g)
\end{aligned} \tag{18}$$

Similarly,

$$\begin{aligned}
T(r, g) &\leq \left\{ \frac{m}{n+m-2k} + \frac{1}{(n+m)s+2k} + \frac{2k+1}{(n+m)s+k} \right. \\
&\quad \left. + 1 - \Theta_{k-1}(1, f) + \varepsilon \right\} T(r, f) + \left\{ \frac{m}{n+m-2k} \right. \\
&\quad \left. + \frac{1}{(n+m)s+2k} + 1 - \Theta_k(1, g) + \varepsilon \right\} T(r, g) + S(r, f) + S(r, g)
\end{aligned} \tag{19}$$

from (18) and (19) we get

$$(-\chi_1 - 2\varepsilon)T(r, f) + (-\chi_2 - 2\varepsilon)T(r, g) \leq S(r, f) + S(r, g) \tag{20}$$

where  $\chi_1$  and  $\chi_2$  are defined as in and (2) respectively. From (20) and the condition  $\max\{\chi_1, \chi_2\} < 0$  we get a contradiction.

Case 2. Suppose that  $F \equiv G$ . Then from (5) we get

$$f^n P(f) \equiv g^n P(g)$$

i.e.,

$$f^n(a_m f^m + \dots + a_0) = g^n(a_m g^m + \dots + a_0) \tag{21}$$

Let  $h = \frac{f}{g}$ . If  $h$  is a constant, then substituting  $f \equiv gh$  into (21) we deduce  $a_m g^{n+m}(h^{n+m} - 1) + a_{m-1} g^{n+m-1}(h^{n+m-1} - 1) + \dots a_0 g^n(h^n - 1) = 0$  which implies  $h^d = 1$ , where  $d = (n + m, \dots, n + m - i, \dots, n)$ ,  $a_{m-i} \neq 0$  for some  $i = 0, 1, \dots, m$ . Thus  $f(z) = tg(z)$  for a constant  $t$  such that  $t^d = 1$ , where  $d = (n + m, \dots, n + m + i, \dots, n)$ ,  $a_{m-i} \neq 0$  for some  $i = 0, 1, \dots, m$ . If  $h$  is not a constant, then we know by (21) that  $f$  and  $g$  satisfy the algebraic equation  $R(f, g) = 0$ , where  $R(\omega_1, \omega_2) = \omega_1^n(a_m \omega_1^m + a_{m-1} \omega_1^{m-1} + \dots + a_0) - \omega_2^n(a_m \omega_2^m + a_{m-1} \omega_2^{m-1} + \dots + a_0)$ .

This proves the Theorem 1.

#### 4. Proof of Theorem 2

*Proof.* Since  $f$  and  $g$  are entire functions, we have  $N(r, f) = N(r, g) = 0$ . Proceeding as in the proof Theorem 1 and applying Lemma 1, we complete the proof of Theorem 2.

*Acknowledgement.* The author (HV) is grateful to the University Grants Commission(UGC), New Delhi, India for supporting her research work by providing her with a Maulana Azad National Fellowship(MANF).

#### REFERENCES

- [1] J. CLUNIE, *On a result of Hayman*, J. London Math. Soc. **42** (1967), 389–392.
- [2] R. S. DYAVANAL, *Uniqueness and value-sharing of differential polynomials of meromorphic functions*, J. Math. Anal. Appl. **374**, (2011) 335–345.
- [3] W. K. HAYMAN, *Picard value of meromorphic function and their derivatives*, Ann.Math **70** (1959), 9–24.
- [4] W. K. HAYMAN, *Meromorphic Functions*, Clarendon Press, Oxford, 1964.
- [5] I. LAHIRI, *Weighted sharing and uniqueness of meromorphic functions*, Nagoya Math. J. **161** (2001), 193–206.
- [6] J. D. LI, *Uniqueness of meromorphic function sharing one value IM*, J. Sichuan univ (Nat,Sci,Ed.), **45**, 1 (2008), 21–24.
- [7] JIN-DONG LI, *Notes on the uniqueness and value sharing for meromorphic functions concerning differential polynomials*, Ukrainian Mathematical Journal. **66**, 10 (2014), 1357–1366.
- [8] XIAO-MIN LI AND H. X. YI, *Uniqueness of meromorphic functions whose certain nonlinear differential polynomials share a polynomial*, Comput. Math. Appl. **62** (2011), 539–550.

- [9] C. C. YANG AND X. HUA, *Uniqueness and value sharing of meromorphic functions*, Ann. Acad. Sci. Fenn. Math. **22**, (1997) 395–406.
- [10] H. X. YI AND C. C. YANG, *Uniqueness Theory of Meromorphic Functions*, Sci. Press, Beijing, 1995.
- [11] L. YANG, *Distribution Theory*, Springer-Verlag, Berlin, 1993.
- [12] Q.C.ZHANG, *Meromorphic function that share one small function with its derivative*, J. Inequal Pure and Appl. Math. **6**, 4 (2005), Art. 116.

(Received May 26, 2016)

*Harina P. Waghamore*  
*Department of Mathematics*  
*Jnanabharathi Campus*  
*Bangalore University*  
*Bengaluru-560 056, India*  
*e-mail: harinapw@gmail.com*

*Husna V.*  
*Department of Mathematic*  
*Jnanabharathi Campus*  
*Bangalore University*  
*Bengaluru-560 056,India*  
*e-mail: husnav43@gmail.com*